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In the diagram above, |PQ| = |QR|, |PS| = |R%X€RG@&MI LPQR= 80”. Find £5PQ.
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Answer Details

oin PR

QRP = QPR

= 180-80 = "0/ = 50°
SRP = SPR

- 1&0-3G=T5Uf3 =75°

S S5PQ =5PR-QPR

=75-50=25"



Given that 1/2 logqg P = 1, find the value OF P
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Find the twv&(@ﬂw&r@sa@}ﬁw !I}‘egsimull:ane-:uus equation 3x +y =8, :-;'E sy =6

preV'e oa0e
-1 and 5 @

-5 and 1
1and5

1and 1



Fifty boxes each of 50 bolts were inspected For the number which were defective, The Following
was the result:

No. defective perbox |4 [ 5| 6 | 7 |89
No.ofboxes [ 2|7 {17 | 1§ 8 6
Find the percentage of boxe ﬁ&@&ﬂe?ﬂs defective bolts each,
oM £ A
A\! 20
Pre pa9
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90

Answer Details
% of boxes containing at least 5 defective bolts each

_ T+17+10+8+6
50

48 100
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tan x
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Answer Details
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What is the product of ;—7{3}'3 and %?



Solve the equation (x-2) (x-3) =12

Answer Details
(x-2)(x-3)=12

2 _
X-=3x-2x+6=12
x%-5x-6=0
(x-1)(x-6)=0

Xx==10ro6



